01. +1efo 3f A, B,C,D,E,F ¢ G (& 93ora FeiTs 23 @ A R B I 347% 2itofifd 1t A | 7@ g9 9%
% (T TFGTANE Al @S A2 [BUET'18-19]
T A G B AMitont elrscer @t swedn = 6) x 2!
~ e feuet sieant = 71 — 61 x 21 = 3600 (Ans.)

02. 'director’ *=fbq afefie Ryt e wire Tam 36l 3w =1 e | [BUTEX'18-19]
TNY«: DIRECTOR

s 7 8 , ef 3 , e 5 ; ca: Reyrr = 2
TeTRGe g3 Wy ywe R, 41 xg—:-
Tafalit <Tn AR @t R, = 41 X = = 18720 [Ans. ]
03. EXAMINATION *=fb7 remafefine ae 1 R0 T 0T AT T2 [BUET'17-18]
anes: EAIOXMNT
e as af = 117
QRN IFA=2FBI=2B N=2F
el =B R eyt = — 11

2!1x21%2!

8L8



04,

05.

06.

07.

wafre 5 5 riena e g7 Wy 2 B QLW | TOAR AWMEFITGTANT 0 (O 1T TR

= 7« 2| s tgRens o A @ R e

T o21x2l T 21

B L A S
T o2ix2Ix2!  2Ix2l T 4914000 (Ans.)

CALCULUS % Tt HIQTE (I fAT0 TS eita Fes W7 1% REietiy FT6s o ¢ oy
OB, Y A7 [BUET'16-17]

R CALCULUS 7% 2 8 ; av e ¢ ot L g, U, @alb A s . b Ry = o
2T @ (ATE QL S AT W 3 i (CC, LL, UU)
. 2RITY @ (Y T SR Y R = 3 X —

2121

12.3.4,5,6,7 PO QTR NI TR I AP 6 5 TR W@y 7-wew R Aot e B TR
FrenCAT @ | TF ST 2000 ©F Feund FE? [RUET'15-16]
AT QTR FTESH TR U TGS (T (VT IGAFLH TR S A

- 2RI 1 G TRt oeT TR 61 1 R Wy e 5 AR 5w Reren e 51

- ey 1 8 5 o i wer 3ok (61 — 51) & = 600 B

EEHHSITE et 2 WA 3 RFAB 5 fy wideren HewT 1Y 2 x 600 ¥

. TeTNGTATR BEEaFTH TR 1800 T FeuTt T ety 3 B =W Hen

W, AT e ey e T 41

QUF, SRS STFAGTIE W0 2o SR 1 Y METTS FeaTT Aew T (51 = 41) 4196

WO, WA FRGTAE T e ST I 3 e 2T SR 1 A 2 AT SRT AN M 2 X 96 B a1
192 5

wEW3, T I AT W (2000 — 1800 — 192) B, 8

o8 SRR 1 GO AT oinewr ana 41 - 31 A 18 > g 1 wouz T SREH 1 T

5od SR 2 GO Het Anewr AR (31— 2) A4 B < 81

qEYT, 5P TG T 5 (2 97 RS THRGT TG ARTT) | WRQ FewyT I 4

ey SR 2 Gy eyt onewt w2 A 2 W< 4 B

T, T I IR 6 (2 47 oS! TG ) |

TG, TAB AWIAT HOGTW 4315627, 4315672« W @6 )T = 4315672

6 W T @ 4 W oW R W (VT 6 W G3t 3 "5 T TR | FADD Te ewE oW T (W

oM COR fRTeR WA AvRET! AT [KUET’03-04, BUET’12-13]
g Math(6) Physics(4)

6 0-(i) (i) wr oy B e =°C %' C, =1

5 1 - (ii) (it) «w ey R e =°C, x*C, =24

4 2 - (iii) (iii ) wr wwr 2R weur =°C, x*C, =90

TS TR T =1+24+90=115 (Ans.)

PERMUTATIONS =% 2 ovr curer wald wef a of% mamad Row arwowen e ofox T W, (T
TS WEIAT TR TP [RUET’12-13]
woem: 1M 7w P.E, R, M, U, A, 1,0, N, S; 28w T ; e 5% (A, E, I, O, U); mwmaf 6 (P, R, M, N, 5,T)
T TR A QTR | TR e QT Wt AT e |

o T aze o wef fewwer =°C, x° C, =50
15T, 1 Tremad o 19 v e e =°C, x° C, x 2
T = o reet @ 19 woeef R =°C, x* C, x 2! =100 .. c"® 155




- R
08. ENGINEERING *=f% gre offeam 4 0 <0 o (o FoetE == 59 <41 TiE? [RUET’10-11,11-12]

T I T BoATIZ fsapors
ENGINEERING *mifote E -3 N-3,G-2;1-2;R -1

ARE HfE R et

310 aa%, uafd fog 2C1x4clx—§§=32
210 938, 21 vz 4C2x£—!-=36

21 932, 25 fog 4C,x4C2x§=283
4 o3 fog °P, =120

", GG SR STt =32 +36+288+120 =476 (Ans)

09. 6Wﬂsmmﬁﬁmllwmﬂmmwmmwmwsww
twm4wawaﬁWm|ﬁﬂwmﬁmﬁwmmwmw [BUET’11-12]

A 3T veT (b &) 7 9 (b Tie)
4 7
5 6
6 5
. feea et e = (6, <G (EC, x¥C,)+(5C, % 'C.) =344
10. TOTMI 5 o @ G 711307 wiens #iimy [BUTex’10-11]

AN 5= 120 ST |
11. 7 ©g evers st 5% 73 @i 1010 o Tre wae +Fmwidice 6 o 9tz Su7 fite =@ | @ o @

4 o7 &t eireya Soa w1 il | @ AT TS BT ereter AR TS AR [(BUET’09-10]
Y ST O T Y

4 2

3 3

2 4

. AT AR T GG B M)t = 5C, x ’C, +°C; x°C, +°C, x°C, =200 (Ans.)
12. ‘COMPUTER’mwmwmﬁwﬁmmwmﬁnﬁﬁﬂﬁwwﬁwmmwﬁrﬂwf

T | [RUET’09-10]
AN Tt e 30 et W 5% . Soigw o e st = sreay =P, ~°P, =276 (Ans.)

13. 'ENGINEERING' mewﬁmmwwmﬁﬁw | SItve IOSTEATS F ot qag
FF A AT QIR TOGTANS 9T 2y FW AT A ? [RUET’03-04,03—I]9,KUET’03-04]
11! | |

he ol =y (Ans)

E feafbra waa e, wremmim Beirg =




14, SPL PLEILETT HADITILH 3 NU¥E TILTH M) LU ST SN0 FINIVEY R D |2r v & v v v

Tty e @ B =P, =720 ©itd [9FEe @@ #fua A A

15. How many different ways can the letters of the word MATHEMATICS be arranged taking all the
letters? Also determine the number of ways the vowels will remain together. [RUET’07-08]
syt In the word ' MATHEMATICS' there are two M, two A, two T, the rest 5 letters are all

!
different. Hence the number of ways the letters in the word can be arranged is = 2—1121'—2—‘ (Ans.)

If the vowels are kept together, then the pack of vowels will act as a single letter, there are 7

consonants among which there are 2 M, 2 T. Along with the pack of vowels, these 8 letters can be
!

arranged 1n % —10080 ways. But in the pack of vowels, are 4 letters among which there are 2

|
A. So these 4 vowels can be aranged amongst themselves in g—;= 12 ways. Hence the total

number of arrangements in the second case is = 10080 x 12 = 120960 (Ans.)
16. 7 O CET G0 vor 2b AR SN $ACE T GIHre 7 ToAd @ a3 Wb 4 wew @ g A

WED 3 GBI I FACS ARTI? [BUTex’04-05,07-08]
HAAY[:
ST AR EIRAT | T TALA CETERAT | SN SAI SR
7 0 Te,
6 1 1c,
D 2 7c,
4 3 7(:4
3 4 7
99

17. emiet 3% ¥, 'Rajshahi’ =5 srwaetera a1t et 'Barisal' =#fba srwqetens REeT 7eara e |

. : ! o !
#tyH: Rajshahi, @3 Ry 74y = % — 10,080 ; Barisal @3 f&ei1s1 7141 = % =2,520 [RUET’06-07]

.. Rajshahi @7 fa7151 7471 = 4 x Barisal @9 &y 7122y

18, 15 & B WYy (LT &S IRMre 5w RenR @i 3% afif i vawe w3 | 7 Boiw @ sfifbeter o7 i
IMA? [KUET’05-06]
TA: 15 & (/e 5 T e S o7 ar Soiw = °Cs
T 10, (15 — 5) o @ 5 o e 3B 15w w9 Toiw = '°Cs
a3 (15 — 10) a1 5 O (e 5 o e ffB =16 i it = °Cs
- RewfS ffS s 7A@ Boiw 9Csx'%Cs x °Cs = 756756 (Ans.)

 (Bm)! _ (3x5)!

Raw 3 = =756756
(m!) (31
19. How many words can be formed by placing the vowels of the word TECHNOLOGY side by side?
waiyis: Total number of vowels 3(E, O, O). Total number of letters, 10 [RUET’05-06]

!
Number of permutations of the vowels % =3

.. number of arrangements keeping the vowels together 3 x 8! (Ans.)



U, TLEXTILE’ *H0d INTANT TS T ASCAT TR O (@7 I | FOGTACS TR0 G0 AIT? IO
TG (O BT H TR [BUTex’02-03,RUET’05-06]
R “TEXTILE’ *=fbre ant 2 7%, 7= 318, wae 7o wow 93 E wwe 723 T wmg |

T STRTAR BT o =1260
2Ix2|

e gItw 93l f vz ot 7 ¢ B 9w B = ;:"fflso
X

iR R S PLTE SRR S S —— %;.=3 Tomn

w8 s 2 21 8w AreneAr TR, g=12%'m

S, TRRAOTAT (UG YT LYRAT G RO = 3% 12 =36 (Ans.)
2], OTUH ACIT FIATH CHO A AL TR 7047 S 71w, w ey we R oy o (1) 9T T oD et

TAQH WA (ii) 9% For A6l IR Iw Tl ARy Wz o7 2 [KUET’04-05]
. 0!
T (1) 2 =60 (Ans.)
(i) W G R '
S|
1 2 2 2—'2—1 =30
1 B 1 3o N 20 -
3
— — BRG]
0 2 3= —=10 ., w0=60(Ans.)
312!

22, 'IMMEDIATE' %% Srmatat T© &30 AT TW? QT W0 TGS @iery T QR OTF A T3y
;' IMMEDIATE' *9fte cniB 2 wieg = of [CUET'13-14,RUET’04-05]
Q¥TH, I e 2%, M e 2%, E wirg 21
‘GO AT T = ——— = 45360, (Ans.);  &T T e OfTE A 8 1% = — 7' = 630,

2! 2| 2| 2! 2| 2|

01, mrdfafémar snereitfé &1 e " TRIANGLE" it wrerafir 3w oy et wros [KUET'18-19]

(2) 33000 (b) 34000 (c) 35000 (d) 32000 (¢) 36000

T (¢); Bl — 6]l X 3! = 36000
02. 0,1,2,3,6, QmmmmmmmmmmsmﬂWmmmammmmmi

[SUST'18-19]
(a) 24 (b) 32 (c) 48 (d) 40 (8) 60
m(d);mmmswﬂmmﬂﬁrmmmmmamﬂ!mm|mﬂmmwmw1ﬂwu{ .
2mmw.wﬂmWW1uzwmmmuﬁmmluzﬂTm,wawﬂvmmmmm
murt *Py = 3Py 1 W 1 @ 2 ¢rmr wef® 4 wer e 1 wer Tt Ty Sy = ¢y, T Ry e
31 % *Cy Bow | Ry 012 0 021 “Meert 7 arresioes wt wear R |
., R e mr = 4Py — 3p, + 4C, x 31 -2 = 40



03, «vyfewame 500, 50, @ 5 B wwwey 3, 4 6 5 B % v | Bret = By o7 we aww Ry RF Frow

w1 T oy [KUET'17-18]
(a) 60 (b) 59 (c) 61 (d) 119 (e) 121
e (d); N=3+1)(4+1)(G5+1)—1=119

04. "C4 = 15,""'Cs = 21 Tn P, uw W TP [SUST'17-18]
(2) 6 (b) 6! OF (d) 5! OF
T (b): nCy _ 15 _ 5 nixsi(n-4)l B . = s

+ (b); ntigy 21 7 = 41X (n=4)Ix(n+1)! 7 =n=6" "p;s ps = 6l

05. 0,1,2,6 Werof QIR T IWH T 3 WA Rerey and Tl (qm W, AR weEw, W W o v W)
HTt HOF I A7 [SUST'16-17]
(a) 18 (b) 30 (c) 24 (d) 36 (o) 32

WY (¢); 1 I KT 6, 2 I XLyt 12,21,60
SCER YT AOTH ST (U AT (T TGN ST T Iy 3 Wt Ry aw)
ST, 3 WA HWT HOTH-
0+ T 1 + 2 + 6,3 TR Ry TTw? 31 Fedr Hed
1 1 fATer 6 + 2 + 0, 3 W Retery =
27t AT 6 + 1 + 0,3 w7t Reren =t
6 7 T 1 + 2 + 0, 3 A Rerey
IMER GFA MM R =2x2%x 1 =40
4 TR @A 1 + 2 + 6 + 0, 3 g7t fFerer)
JITGR SUTT 0 I I FeN A1 AP =3x3x2x1 =187
@ =1+3+6+4+18=321
06. TARNGRITE Gt “Ariroiifit 71 @TY ‘ADMISSION’ *%Ba Sraaef? 3 Feua B AT IR7?
(a) 90720 (b) 88600 (c) 86400 (d) 4320 (e) 360
FAY: (c); ADMISSION — 9339 — A, 11,0 = 4 letters [KUET'16-17]

- TR GTTe QI @ i Ry = 2 x 12 = 4320 - A gt stedyt = %— 4320 = 86400

2!

07. 0,1,2,3, 4 9%sfe a3 @ LA I 216 W (W5 3o (@G Fejf 167 T4 T ? [SUST*15-16]
(a) 54 (b) 60 (c) 72 (d) 96 (e) 120
HAYIR: (b); T8 0 87 @t (T oty 72 274 = 41 = 24 5
¢T3 2 89 card 93 &Rt 0 1 (@02 (T e M Wa =3 x3x2x 1 = 18 B
178 2 T899 T 932 2T 0 1 T (WG (B M TA =3 x3x2x 1 = 18 5|
IO, 0, 1, 2, 3, 4 SHeeT G314 N I9&A I *ii> &7 o WA (wire eyt 197 4t
= (24 + 18 + 18) = 60 6

08. 100 T fon THAMITTA GIb (AT T© FHLATT ©AMIA e [yt @2 Tt 724n w7 [SUST’15-16]
(a) 1 (b) 2 (c) 3 (d) 99 (e) 100
T (a); 1°°P, = 100 and '°°C, =100

09. ENGINEERING *¥0q SrHagTt@ad $ood FAIGI Try? [BUTex’15-16]
18 s ©) 35 ©) Stz (d) None

FAYI: (a); NG T = 11 6 T weeg E = 3 B, N @it 3 5, G =g w3f, 1 itk 436
- ST oA = o

3131212!




10,

11,

12.

13.

14,

13.

16.

17.

4,5,6,7 QR B 99 HTOJPIV QF0F ALK FIF A FIZF I TS N FAG 1FCEG 7221 (941 4T Li7?

(a)30 6 (b) 24 & (c)25 % (d)12 o (c)36T

WA (b); 9% BT 5 @Y o7 w0 7247t 16w =41 A7 4P, B [KUET’15-16]
GIE F 7 A0 &7 SeEa A4y o7 w4 Ty *p, B

* (0 &7 wHa [ATse Fednt sinsm g = 2 x 4P, = 24 5

100 ¢t 999 ALAINGTA 4T (F379 HeIiw 1 6 cone @ 2 6 fArene wiees witg $iwd (116 72471 $8°2 [CUET’15-16]
(a) None of them (b) 300 (c) 200 (d) 150

ANYFA: (b); AT WF 1 (UF 9 G VLA W0 T | AR, HPIT HPGEANSS 0 A1 (0 & &% I [{wwe
fatasa1 Tt 2w )

Case — 1: 1 6 care W32 2 o wremt faree o o&, 4C, x 5C, x 3! = 240

Case — 2: 1 b cane @32 2 b @3 Rrere wedn &=, “C, x 5C, x-}:= 60

» CTD 23T = (240 + 60) A1 300 &

14 G POI (NTAMTG TS TG CATATAIG Few 13 Ticat s7ear @ Ry et 91 T3? [SUST’14-15]
(a) 1 (b) 2 (c) 11 (d) 13 (e) 14
™yE: (a); *c, = ¥R, ~x=1
“Examination” *%{0 2@ 4 & wreg Ao Sitha Jea 8 [ 5y 7% 33 ? [KUET’14-15]
(a) 147,2324 (b) 136,2454 (c) 3021,226 (d) 2150,215 () 334,2354
AqYIH: (b); Exmto; aa; ii; nn
A e
4f6 o > °c, =70 8C, x 4! = 1680
2f6 same + 2f5 fé —» 3¢, x 7C, = 63 3y x 7C; x 3 =765
2 same + 2f0 same — 3C, = 3 30, % S.= 28
136 ¢ 21217 2454
W "P, = 6 "P, TW, BT n W TW- [BUTex’14-15]
(a) —3 (b) 3 (c) 9 (d) -9

ANYIA: (¢); n HNR (HIGS Q32 4 STOMH TG |

0,3,5,6,8 WZGTAT AT (@R W2 SFARIE T FTH 4000 GF (5T TG IOGTAT HLAJT 5167 w5l A2

(a) 144 (b) 192 (c) 168 (d) None of them

FAAYI: (C); 4000 O (5L IT 5 &R FLLAT (5! — 41) T 96 FYTF | [BUET’11-12,CUET’*14-15]
4000 AT C6TH TG 4 CHA AT 3 X pg 1 72 Fej& |

*.4000 O (5TH T FHLLIT 15« T T (96+72) T 168 HeTF |

a3 eperar Gt do B eny mae, T ¢ B T A W3 T ¢ B G B (v uiR | w3 o F e e
G (UL AT & O avew Taw fAte a1 /el weafd e Sew e ey e, (Oib Tdeeiy e

AT G0 7 Rt TS A7 [RUET’14-15]
(a) 50 (b) 100 (c) 150 (d) 200 (8) 50
XY (d);
sec A (5) sec B (5)
[® 2 4
3 3
4 2

AT AT = 5C, X °C4 + °C3 X °C3 + °C4 x 5C, = 200

6 a3 1, 2, ..., 6w A == oo | &ffS Ay w1y S 1@ 99 e Teee T @ wwerE 18 I
TR AL I U (R, I 97 NS AT TR AR | TG TS ST S w1l I O -

(a) 5 (b) 6 (c) 60 (d) 21

sary: (d) ; €A =n (1 o Green) + n (2 5t Green) .....+ n (6 5 Green) [BUET’13-14]
=6+5+4+3+2+1=2]



LO.

19.

20.

21.

22.

23,

24,

25,

26.

1, £, 3, 4 M) 19178 21997 (9] Q9] PV TGS 759 41 A0A? |[BUE1°13-14]
(a) 1 (b) 2 (c) 3 (d) 4

Ty (a); Only 2, 3, 4 can form a triangle. [ 1 +2=3 1+2<4 1+3=4],

but2 +3 >4,

™ °C,,="C, &,W@ *C_ a7 A @B [KUET’07-08, BUTex’13-14]
(a) 462 (b) 332 (c) 232 (d) 231 (e) 233
Y "C,="C;, ="C,="C_,=>12=n-8

=>n=12+8=20., 2C_=%C, =%C, =312-'-22—1=11x21=231

9T W 6 T IF VIR | [ 7@ gaita o uzerm 3 w3ifis 150 g 390 «iam? [BUTex’13-14]

(a) 720 (b) 120 (c) 63 (d) 60

sy: (c) ; 2° —1=63 =i

If *C, =" C,, *C,=" [BUTex’13-14)
(a) 64 (b) 56 (c) 48 (d) 98

e (b); n~2=6 ..n=8 .8, =56
"courage" *=fow Ifefer RTw swetar Reyer eyt ffr 1t wr o erere Reiee ety w3t Femaf -

(a) 720 (b) 2106 (c) 2160 (d) 1260 (¢) None

TYE: (c);courage .. AU o @ et - =3C, x 6!= 2160. [RUET’13-14]

G0 ST (LT TSI STSTIA A T IR | TANACAT TR 66 T TG (AP TS Tofgs oo~

(a) 33 (b) 11 (c) 24 (d) 12

FAYI: TSR N T @I AIRTH I TRAT 7S "C, [BUET’12-13]
n(n-1)

e, "C, =66 = =66 =>n’-n=132 =n’-n-132=0

_1£V1+528  1£23

£3% > =5 > =>12,~-11 ".n=12''n=-11
T JEX 12 O TG WL AR W07 8 o W | B @ @wim 7w 9 Ry 30 4@ o 1o S o
W ARITE? [BUTex’12-13,BUET’12-13]
(a) 360 (b) 390 (c) 336 (d) 480
AN G = §OF . ARAIF =12-8 =4 o7 .. e 0w *aw =8~ x4~ =336
3(wit) B Ry wrewr yot v vy w3 e wiew w3l toft =t e Ay [BUET’12-13]
@) 7 ) 8 © OF
sryt: 8 b oy Yot et 5wt = (8~ 1) 1= 7! amom Toyy Sk Ryt S |
77

st = — =

- 2 2
"C, +"C, 9% I @by [KUET’11-12, RUET?12-13]
(a) "’ C,, (b) "7 C,, () "°C, (d) "'C, (e) ™'C,,

suiyie: (d): Theorem



27,

28,

29,

30.

s

32.

33.

34,

33,

36.

TN "P, =240 M "C =120 T, TW@ n e r @7 W Acfraw [Ans: ¢] [RUET’12-13]
(a) 4,2 (b) 16, 4 (c) 16,2 (d) 2,16 (e) 4,16
. n! n!
e P = =240 and "C_= =12
(n=r) e =0 (n-r) 2

rM=2orr=2 ..\n*-n=240 ,.(n-16{n+15)=0 . n=16

Courngo *MW3% Tfatwt firw Twate fRwyrr eyt ffr et ww (aw erwrar RAwyeomr ey o wwef ey

(a) 1440 (b) 2880 (¢) 720 (d) 120 [BUTex’12-13)
iy (b); Courage *=ite s 4 % (a, e, o,u) 4 e 11 v I w4, T WA TR N YT
T T 11 v oy (7 1) 6 B Ry oof At ww 6lena

‘oo Ry =* C, x11x6] = 2880

RevRmror ofF ofwiy 4 oW T @ 2 W (IR W TMRTE WA R | IO TANAT T (T (IO @

HETAW ointeffR e [SUST’12-13]
(a) 60 (b) 120 (c) 240 (d) 360 (e) 720

AR 2 B T wireititf i et et (4 + 1)! x 21 = 240

7' srreeT e e 6 5 g 1010 R e 3w Foel e = W [SUST’12-13]
(a) 420 (b) 560 (c) 720 (d) 2520 (e) 3360

Rt: qvw, fige eyt = (940 ¢ _ 6C, — 19C, = 420,

0!=7? [Ans: d] [BUTex’11-12]
(a) o (b) —o0 (c) 0 (d) 1

FITCI 50 TAITE 7' 12T TR @iwe e eart w4 T [Ans: c¢] [SUST’10-11]
(a) 2 (b) 3 (c) 4 (d) 5

'"THESIS' *#b7 afefr zre afSaa 4  af Aoy 2w smimar st g o2 IKUET’10-11]
(a) 10 (b) 11 (c) 9 (d) None of these

FATYIA: Feoe eiferara s <4 789 3

(i) 3% S, 2 fegaf .. w1t ='C, < *C, =6

(il) «ff 242 feq cOMAR AT =°C, =5 .. GG A WA =6+ 5=11

LA A9 Gl wwa 72, 73 A 76 Wy oF @ 6 WS AT T30e (NG FAWEy ALTATT AT T
(Ans: d] [KUET*10-11]

(a) 10° (b) 10* (c) 3x10° (d) 3x10* (e) 7x10°

7 o @it @ 3 5 w21t zrer Tl *# 1o I AT @A 3 wacf ¢ 2 6 wwaf 9

(a) 120 (b) 25200 (c) 4200 (d) None (¢) 25000

syt (d); R ARt = C, x°C, =105 .-, *M 7T =105 x 5= 12600 [RUET’10-11]
"PERMUTATION" *#f6q 9o (@M Faarda g AfMase 71 03 F© 790 A& 397 @S 7 |
(a) 359 (b) 720 (c) 719 (d) 358 (e) None

|
TYE: (a); TERS 616, 2B T .- %—1 — 359 Tl | [RUET’10-11]

892



